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    A Happy and Peaceful New Year to all readers!

    Once again I have tried to select easy problems for the last three. The 
kangaroo  in  n°10  hops  like  a  grasshopper,  but  over  any  two (not 
necessarily adjacent) pieces to the next square beyond the second one.
    Comments are welcome, as always, but all you have to do in order to 
receive the next issue is to acknowledge this one. 

     1.                                2.                               3.
 cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC
 {wdwdwdw$}{wIwdwdwd}{wdwdwdwd}
 {dw4wdwdw}{dwdwdwdw}{dwdwdwdw}
 {w)wdw1wd}{wdN4wdw0}{wdwhw4p0}
 {dwdbdwdr}{)wdwdwdR}{Gwdwdwip}
 {wdwdwdwd}{Pdkdwgwd}{Kdwdwdw0}
 {dwdwdRdw}{dpdwdwdw}{dwdrdn1B}
 {kdwdwdKd}{wdwdwdwd}{wdwdwdpd}
 {Gwdwdwdw}{dwhwGwdw}{dwdwdwdQ}
 vllllllllVvllllllllVvllllllllV
     h#2      5 solutions      h#2      3 solutions       h#2     2 solutions
                                                
     4.                               5.                               6.
 cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC
 {K!wdqdwd}{wdwdwdwG}{bdwdwdkh}
 {)w0B$N0w}{dKdwdpdw}{dwdwdwhw}
 {wdwdwdwd}{wdp0wgbd}{wdwdwdwd}
 {dwdpdwdw}{$wdqir0w}{dw1wdwdw}
 {wdwdpiwd}{wdw0p0pd}{wdw0wdwd}
 {dw0wdw0w}{dwdwdwdQ}{dwHP0wdw}
 {w4wdwdwd}{wdwhwdwd}{pdKHw4wd}
 {dwdwdwdw}{dwdwdwdw}{drdwdwdw}
 vllllllllVvllllllllVvllllllllV
     h#2      3 solutions      h#2      2 solutions       h#3     b)nh8>f7

                                                                                            

      7.                                8.                               9.                           
  cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC
  {wdwdwiwd}{wdwdwdwd}{wdwdwdwg}
  {dwdPdwgw}{dw1whNgk}{dwdwdw4w}
  {wdwdwdwd}{wdwdwdwd}{wdw0whwd}
  {dwdwdwdw}{dwdwdwdw}{dwdwdRdw}
  {pdwdw0wd}{p0wdwdw0}{wdwdpdP$}
  {dwdwdwdw}{0wdwdwdw}{dwdwdwdw}
  {phwdwdwd}{Kdpdwdwd}{wIwdPdk0}
  {Iwhqdwdw}{dwdwdwdw}{dwdwdbdq}
  vllllllllVvllllllllVvllllllllV
       h#5     b)qd1>f1         h#5                            sh#5    2 solutions  
               c)=a)+bg8
      10.                               11.                              12.           
  cuuuuuuuuCcuuuuuuuuCcuuuuuuuuC
  {wdwdKdwd}{k?wdwdwd}{wdwdwdBi}
  {dwdp0wdw}{?wdwdwdw}{=wdwdw?w}
  {wdPdwdwd}{wdpdwdwd}{wdwdwdwd}
  {hwdw0wdw}{dwdwdwdw}{dwdwdwdw}
  {wdwdwdwd}{wIwdwdwd}{wdwdwdKd}
  {hwdwdwdQ}{d>dwd<dw}{)Pdwdwdw}
  {wdkdwdpd}{Pdwdwdwd}{wdwdwdw=}
  {dw1wdw¨w}{=wdwdwdw}{dwdwdwdw}
  vllllllllVvllllllllVvllllllllV
       h#3      3 solutions      sh#8*                          sh#18*
          § = kangaroo

SOLUTIONS TO BROODINGS 7: 

1 1.Sf7 Qxf5 2.Bd5 Qc2# & 1.Rf7 Qxe5 2.Qd5 Qc7#          2 1.Bg5 Sxd4 2.Qxd4 e4# & 1.Bh6 Bxa3 
2.Qxa3 e3# Positive and negative effects           3 1.Bf3 f8Q 2.Se3 Qxf3#, 1.Bg2 fxg8Q 2.Sd4 Qxg2# 
& 1.Bh1 fxe8Q 2.Se1 Qxe6# Hideaways with triple avoidance. An example in the current set avoids 
captures of the BB.              4 1.c6 Rb7 2.Bf2 Re7#, 1.Rc6 Rxd5 2.Bf4 Rd4# & 1.Sc6 Rb2 2.Be5 Re2# 
5 a) 1.Kf8 Ke5 2.Qe8 Sf6 3.Rg8 Sh7# & 1.0-0-0 Kxf7 2.Kd7 Kxg7 3.Ke8 Sf6#  This was composed to  
order for the WCSC.        6 a) 1.Qc4 Rg3 2.Rf5 Rxg4 3.Rf7 Rg8# b) 1.Qb5 Rh3 2.Rc7 Sf5 3.Rf7 
Rh8# c) 1.Qc5 Re3 2.Bc4 Re7 3.Bg8 Sg6# Finding three different mates was enormously difficult.  
7 a) 1.Kxd5 fxe6 2.Kc6 e7 3.d5 exd8Q 4.Re6 Qc8# b) 1.exf5 e6 2.f4 exd7 3.Kf5 dxe8Q 4.Qe4 
Qh5# c) 1.Sf7 exf6 2.Ke5 dxe6 3.Kxf6 exf7 4.Re5 f8Q#      8 1.Bc6 Sxa3 2.Qg8 Sb5 3.Qg7 hxg7 
4.Bxb5 g8Q 5.Ka3 Qb3# Paradoxical switchback necessitating capture      9 1…Kb2 2.Ra6 Kc1 
3.Qb6 axb6 4.Ra3 bxa7 5.Rg3 a8Q 6.f3 Qe4#           10 a) 1.Kf3 Ed1 2.Gg3 Kf1 3.Ge3 Ke1 4.Kg2 
Ef5 5.Kh1 Kf2 6.Gg1 Kg3# b) 1.Kh3 Kf2 2.Gh4 Ke3 3.Gh2 Eh1 4.Gg2 Ef3 5.Kg1 Ed3 6.Kh1 Kf2#  
11 1… Kd2# 1.Gd1 2.Gf1 3.Gf4 4.Gg3 5.Ge3 6.Gf2 7.Gg1 8.Gf4 Ke2# Interchange of grasshopper  
functions with discovered mates     12 1… Gb1# 1.Gb2 2.Kg2 6.Kc1 7.Gd2 8.Kb2 9.Ka1 10.Gb2 Gb1#


